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Q1. 
a) (4 POINTS) Give two differences between the parameter and the statistic? 
b) (6 POINTS) Use Venn diagrams to represent the following:
1. Intersection of two events A and B
2. The complement of an event A. 
Q2. 

1- (4 POINTS) If we roll a die, what is the sample space for the experiment?
2- (4 POINTS) Are the two events A={1, 2} and B = {2, 3} “mutually exclusive” ? why?
3- (4 POINTS) We have 4 farm assistants and we want to assign three of them to three different greenhouses, in how many ways can this be done?
Q3. (12 POINTS) If P(A) = 0.7, P(B) = 0.5, and P(A(B) = 0.4. Choose the correct answer:
1- P(A(B) = 

      a) 0.8

b) 0.4

c) 0.3

d) 0.2   
2- P (Ac ) = 

     a) 0.1

b) 0.4

c) 0.3

d) 0.2
3- P (A|B ) = 
       a) 0.2

b) 0.4

c) 0.6

d) 0.8
Q4. The following graph represents the scores of the first exam for all students in a Statistics class:                
1 | 0 1

2 | 5 5

3 | 1 2

4 | 2 2 

5 | 1 2

6 | 3 3 4 5 5
7 | 1 2 3 4 5 5 5
8 | 0 1 2 3 5 8 8 9
Multiply stem by 10 and leaf by 1
1- (3 POINTS) What do we call this display?---------------------------------------------------
2- (4 POINTS) How many students are in the class?--------------
3- Find the following:
a) (4 POINTS) The range:

b) (4 POINTS) The mode:
4- (3 POINTS) Circle the correct answer: 

         The distribution of scores is skewed to the left:           True                         False
Q5. The following graph represents body weights of 100 Awassi lambs: 

[image: image1]
1- (2 POINTS) What do we call this graph in English?----------------------------------------
2- From the information in the graph, find the following:
a) (2 POINTS) the first quartile (Q1):------------------------
b) (2 POINTS) the median (Q2):------------------------------
c) (2 POINTS) the third quartile (Q3): ----------------------                
d) (2 POINTS) the upper adjacent value:--------------------
e) (2 POINTS) the lower inner fence:--------------------------------------------------
Q6. (8 POINTS) draw a histogram for the data in the following frequency table:  
	True class limits
	Frequency

(fi)

	19.5 - 31.5
	4

	31.5 - 43.5
	7

	43.5 - 55.5
	10

	55.5 - 67.5
	5

	67.5 - 79.5
	4


Q7. The following are weaning weights (in kg) of a sample of 8 lambs:  13, 14, 15, 16, 17, 18, 19, 20.
1- (6 POINTS) Find the mean

2- (6 POINTS) Find the median

3- (10 POINTS) Find the sample variance 
4- (6 POINTS) Find the coefficient of variation.
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